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b) On July 3, 2013 the com~ received a check for the balance due from Crispy 
Company, assuming the~method is used. 
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a) On June \b. 2013. the company receive~ a check for the balance due from Crispy 
Company, assummgfue groSSlii.ethod is used. 

_tiJ/Jc4fJu ... h ~atv11bfA ),.. d(l17 

Required 
Prepare the necessary entries for Almond Company under the following independent 
assumptions 

Question 1 (9 points) )/{/ zP/ J 
On June 3, 2013 Almond Company sold to ~Company merchandise having a sale price of 
$~with terms of 2/10,n/30, F.0.B. shipping point. An invoice ~n~O, terms n/~was 
recei.velfb~r~Pi 6ii};ne-·Kfrom Al-Petra Transport S~ice for.the freight cost. On June 12, 
the company received a check for the balance from Crispy Company. · 



)) 12 Co ri hts. r"' 

(!__ 11 Wastin resources-Oil reserves. V 
10 Unamortized Discount on bonds a able. Due in7 ears .i/ 
9 Bonds a able Due in7 ears . / 

8 Dividends in arrears on referred stock. 1'. 
7 3 for 1 Stock s lit. J... 

Accumulated De reciation. v 
Cash Surrender value fund of life insurance.i> 

........ (<:[) 

(3) Budgeted office supplies for next year. / 
2 Cash Dividends Pa able. -V 
1 Pre aid Insurance. / A 

Required: 

Indicate by using code letter how each of the following usually should be classified. If a _coQJ.ra 
a~t, or any amount that is negative or opposite the normal balance, put parentheses ( ) 

.. - ..-------.. --------------- ---- ,,/ ~ around the letter selected. If an item should appear in a note to the financial statements, use the 
f" » 2:.~to indicate this fact. If an item need not be reported at all on the balance sheet, use the 

,;t/Y,c_~l~et~te=-.;~~~-,-~~~~~~~~~~~~~~~~~~~~~~~~ 
Code Letter Items 

Balance Sheet Headings Code Letter 

Current assets. A 

Long-term investments. B 

Property, plant, and equipment. c 
Intangible assets. D 

Other assets. E 
Current liabilities. F 
Long-term liabilities. G 

Capital stock. H 

Paid-in-capital in excess of par. I 

Retained earnings J 

Question 4 (6 points) 

Wassel Enterprise uses the following headings on its balance sheet. 



~at is Ke. islet's beginning cash balance? 
@2.)S70,000. b) $300,000. c) $150,000. d) none of the above. 

y:eisler Corporation reports: 

/~ash provided by operating activities $200,000 
Cash used by investing activities 110,000 

;?ash provided by financing activities 140,000 
.................. i;:~~~~g~~~~~~~~~s:~ .. . }QQ,QQQ 

c) operating and investing . 
~ operating and financing. 

3. In preparing a statement of cash flows, sale oft~ stoc~~n amou~n!~reater 
than cost would be classified as a(n) 
~operating activity. 
b) Kfinancing activity. 

Fulton will report investments in its current assets section of 
~a) $0. 

J2l exactly $60,000. 
@) $60,000 or an amount greater than $60,000, depending on the circumstances. 

d) exactly $95,000. -- 

$60,000 
35,000 
47,000 Ading securities (fair value) 

ailable-for-sale securities (f~e) 
d-to-maturity securities (amortized cost) 

2. Fulton Company owns the following investments: 

"' 1. One criticism not normally aimed at a ~e sheet prepared usi_gg__current 
1-........ acc_2.!ill.ting and re_g_orting standards is 

~ failure to reflect current value jaforrnation. 
QiV the extensive use of separate~ssifications. 

c) an extensive use of estimatey 
d) failure to include items of financial value that cannot be recorded objectively. 

PART2 
Multiple Choice Questions (15 points) 
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7. On 1 uary 2g 2~0, Wine Corporation wishes to issue $WOO)OOO (par value) of its 
o - e onds. The bonds pay interest annually on January. The current yield 

rate on such bonds isao%]Using the interest factors below, compute the amount that 
Wine will realize from the sale (issuance) of the bonds. 1 ('}L. 

~ l10..,,1.../i"'-r 
~alue oft at 8% fut 10 periods .~-~-00.:3468··-53-52-~ -p.,-. 

Present value of 1 at 10% for 10 periods 0.,,-, P,..-pJ... lrv"~Vtv 
Preserrt-value-uf-airorofoar-y~--pertt-iot1-1d"""s-- ,., 

· a ordinar annuity at 10% for 10 periods Q.Jii&J 
2,212,052 

5. Which of the following statements about iGAAP and U.S. GAAP accounting and 
r/-... reporting requirements for the balance sheet is~ 

a) The presentation formats required by iGAAP and U.S. GAAP for the balance 
sheet are similar. 

b) Onedifference between the reporting requirements under iGAAP and those of 
U.slJ&AAP balance s~t6et is that an iGAAP balance sheet may list long-term 
assets first. "'- 

c) Both iGAAP and U.S. GAAP require that property, plant and equipment be 
reported at:JriSfOrical cost on the balance sheet. 

d) Both iGAAP an~ GAAP require that comparative information be reported. 
{L--; 

6. Jenks Company financed the purchase of a machine by making payments of $18,000 
~ end of each of five years. The appropriate rate of interest wa~The future 

/~~lu~ of6ne for fi~~ periods at 8% is 1.469:33. The future value of an ordinary 
· annuity for five periods at 8% is 5.8666. The present value of an ordinary annuity for 

five periods at 8% is 3.99271. What was the cost of the machine to Jenks? 
a) $26,448 b) $71,869 c) $90,000 @)$105,600 
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···-··- _l~on Inc assigns $~of its account~E~.~~.~-~_E~~~.~~C:<?!~.~!.~E~~!QE_<lj_l .... -·-- ... ··~ / @~E~E:~~~:~~~1~~::~=i~;:~~~t3~~~~~~~~~~~::n:::: on 
payable for $1,000,000. ~ 

b~ebit Cash for $970,000, debit Finance Charge for $30,000, and c~ Accounts 
VR:eceivab~e for 1,000,000.o<-.. . · 
c) Debit Ca f 970,000, debit Finance Charge for $30,000, debit Due from 

Bank for 0 , 00, and credit Accounts Receivable for $1,500,000. 
d) Debit Cash for $910,000, debit Finance Charge for $90,000, and credit Notes 

Payable for $1,000,000. / 

~m Inc. factors $2,000,000 of its accounts receivables with recourse for a finance 
../ charge of 3%. The "'finance"'company retains an amount equ~unts 
tJv recci¥ahl@-ferr1mssfbTeatljrrstments. Sun estimates the fair value of the recourse 

CPi? ti/ liability at~ What would be recorded as a gain (loss) on the transfer of 
-r (tl;HJ! receivables? . p Y\ Gv>' ,,..... 

~ I ~ Gaiff"b.t $60,000. c}" Gain of $360,000. · c ~ /J) rt 1-iVl(l;lrv 
9 ~ ~ Loss of 160,000. d) Loss of $100,000. 

All reconciling items at March 31, 2010 cleared the bankjnApril. Outstanding 
checks at April 30, 2010 totaled $6,000. The"re-;;ere no deposits in transit at April 
30, 2010. What is the Cq§_h balance per books at Agril 30, 20ll)? 

~ a) $28,200 (§2 $31,900 c) $34,200 d) $38,500 

~ 10. ~1e close of its first year of operations, December 31, 2010, Ming Company had 
~ ~·c~unts receivable of $~0, after deducting the related allowance for doubtful 

_ f) 11,, ,.....,._. accounts. During 2010, the company had charges to bad debt expense of $90,000 · . 
~ and wrote off, as uncollectible, accounts receivable of $40,000. What should the lL.1 ..v' 
? lf.,.ll;hli/' company report on its balance sheet at Dece~ber 31, 20.10, es accounts rece~ . (}(.tJ 11""' 
;t /,;6? ;rJvtl before the allowance for doubtful accounts? C{ 011v.,, ,,,,r1_ i.t.bJ.- ~01c.iJ:::.:'tlv'-+---:? 

~ a) ~0,000 @)$590,000 c) $490,000 d) £440,000 ~cJ11rv 
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$46,700 
49,700 

Data per bank for the month of April 2010 follow: 
Deposits ,,__-- 
Disbursements 

$37,200 
10,300 
47,500 
12,600 CEO~ Less: Outstanding checks 

Balance per books, 3/31/10 

9. Tresh, Inc. had the following bank reconciliation at M~010: 

Balance pej bank statement, 3/31/10 
Add: Deposit in transit 


